1%*7& ll:l,annI:l
AVFYORTSUDv—I R~

AOFYIOR RILN - RBHT—&
EH 22120.

Til

M
AVFYIRTIUD v —, AVFYIAAOREBVET

nE 43z
ik EROBNTIELHYET.

< fREIE, BR
& & ﬁ ﬁ - 272 L A48 1.4305 ( SUS303H8 ) i HHE
avy- Y w&
* AT A AN . SEETERE
« A7 L A 1.4305 ( SUS3034 ) | Ovo- +v NGRS T,
YTV F
ZTOOHER
7 = CEETOYY, AVFYORRIN, A
- B FYOATIITN—R, HAF VAN
s AT =TTV, ATV IARIL
~ A
s TARRVA AZ— AVFYIARILE
A
SHER
dg |
* I
® ()
"_:_ s ]
0
~ !
L |1= = avo- Fvh
So- dy 22120.0115-.0120 ( A7 41— )
i d, 22120.0515-.0520 ( A7 LR )
&1 & 2
EER
& NEH" & S
dy d; d; dy l4 I; I3 lg Fy F; min. max.
-0,02 0 min. 0 #
-0,05
[mm] [N] [°C] [a]
J7H - B 1, thEIE
5 M10 x 1 21 - 45,0 5 22 - 6,0 14 -30 80 17 | 22120.0045
6 M12x 1,5 25 - 54,5 6 26 - 6.5 19 -30 80 27 | 22120.0046
8 M16x 1,5 31 - 69,0 8 34 - 115 28 -30 80 63 | 22120.0048
10 M20 x 1,5 31 - 80,0 10 41 - 23,0 54 -30 80 104 | 22120.0050
/7L - R 2, tRHIHE
5 M10 x 1 - M5 - 5 22 6 6,0 14 - 250 12 | 22120.0065
6 M12x 1,5 - M6 - 6 26 10 6,5 19 - 250 19 | 22120.0066
8 M16x 1,5 - M8 - 8 34 12 115 28 - 250 46 | 22120.0068
10 M20 x 1,5 - M8 - 10 43 12 23,0 54 - 250 87 | 22120.0070
J7H-R1, ATV LA
5 M10 x 1 21 - 45,0 5 22 - 6,0 14 -30 80 17 | 22120.0445
6 M12x1,5 25 - 54,5 6 26 - 6,5 19 -30 80 27 | 22120.0446
8 M16 x 1,5 31 - 69,0 8 34 - 15 28 -30 80 63 | 22120.0448
10 M20 x 1,5 31 - 80,0 10 41 - 23,0 54 -30 80 104 | 22120.0450
Vst PiaE

B1/452
EEHALDER hiX: 13.10.2023


http://halder.com/jp/22120.0045
http://halder.com/jp/22120.0046
http://halder.com/jp/22120.0048
http://halder.com/jp/22120.0050
http://halder.com/jp/22120.0065
http://halder.com/jp/22120.0066
http://halder.com/jp/22120.0068
http://halder.com/jp/22120.0070
http://halder.com/jp/22120.0445
http://halder.com/jp/22120.0446
http://halder.com/jp/22120.0448
http://halder.com/jp/22120.0450

v ARk m
ATV IORTZ Ty —/ Rk

<& NzH" & i HRES
d4 d, d; d, I4 I, I3 Iy F, F, min. max.
-0,02 # min. # #
-0,05
[mm] [N] [°C] [g]
J7BUL -2, ATV LAH
5 M10 x 1 - M5 - 5 22 6 6,0 14 - 250 12 22120.0465
6 M12x 1,5 - M6 - 6 26 10 6,5 19 - 250 19 22120.0466
8 M16 x 1,5 - M8 - 8 34 12 11,5 28 - 250 46 22120.0468
10 M20 x 1,5 - M8 - 10 43 12 23,0 54 - 250 87 22120.0470
Va9
7oty —
& L>FH4 X i
d;
[mm] [mm] [a]
Ov 4+ Y NSO 8675 (DIN 439), 8
M10 x 1 16 52 22120.0115
M12x 1,5 18 7,5 22120.0116
M16 x 1,5 24 15,0 22120.0118
M20 x 1,5 30 32,0 22120.0120
Ov 2+ Y bSO 8675 (DIN 439), A7 > L A8
M10 x 1 16 5,2 22120.0515
M12x 1,5 18 7,5 22120.0516
M16 x 1,5 24 15,0 22120.0518
M20 x 1,5 30 32,0 22120.0520
M10 x 1 - 9,3 22120.0955
M12x 1,5 - 14,0 22120.0956
M16 x 1,5 - 25,0 22120.0958
M20 x 1,5 - 27,0 22120.0960
ERBG
/ S /\ /
/ f :\ ) /1 S
e
T, . ! N N S
- N
/ ! ‘
L AN N L

ESQYTIATUA

FHMOESERICOVTR, BNORGEESZERL TLEEL,

"H2A52
EEHALDER hiX: 13.10.2023


http://halder.com/jp/22120.0465
http://halder.com/jp/22120.0466
http://halder.com/jp/22120.0468
http://halder.com/jp/22120.0470
http://halder.com/jp/22120.0115
http://halder.com/jp/22120.0116
http://halder.com/jp/22120.0118
http://halder.com/jp/22120.0120
http://halder.com/jp/22120.0515
http://halder.com/jp/22120.0516
http://halder.com/jp/22120.0518
http://halder.com/jp/22120.0520
http://halder.com/jp/22120.0955
http://halder.com/jp/22120.0956
http://halder.com/jp/22120.0958
http://halder.com/jp/22120.0960

